YRyMe Paper / Subject Code: 86007 / Elective : Human Resource : Organisational Development < 8 \oLl\ 2.

Duration: 2 % hours » \ " Total Marks: 75
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All questions are compulsory.
Figures to right indicate full marks.

Choose and write correct answer from the options given below. (Any 8) ‘ « @8)

The process of Organisational Development is based on the model.
(Reaction/ Analysis/ Result/ Action research) s
is the first step in Organisational Development.
(Goal setting/ Employee development/ Change Management/ Restructurmg)
From the phase the practltloner facilitates the data collectlon analysis, feedback, solutlon
findings etc.
(Diagnostic/ renewal/ collaborative/ restructuring) -
The formulation of re-design plan is the real crux of the :
(Business process reengmeermg/ organisation renewal/ organization diagnosis/ Planned change)
Intervention aims at achieving a fit among the organizations strategy, structure, culture and

External Environment. -
(Structural/ Human Resource/ Strategic/ Third party peacemaking)

tends to be most rational part of our personality,
(Adult ego-state/ Parent ego-state/ Child ego-state/ old ego-state) : :

power based on the power-receiver having an 1dent1ﬁcat10n with power holder
(Expert/ Referent/ Coercive/ Reward) i
Organizational essentially denotes how well company uses money.
(Efficiency/ Power/ Productivity/ Effectiveness)

suggests that the very least the consultant can prov1de "first aid" to the organization.
(Gordon Lippit/ Kellar ford/ Kelman/ Argyris)

technique was developed by Blake & Mouton.

(Managerial grid/ Process consultation/ Transactlonal analysis/ Sensmv1ty trammg)

State whether following statement is True or False (Any 7) . (@)

. Conflicts between people in workgroups commlttees task forces and other organisational forms are

inevitable.

A proactive approach towards orgamzatlonal analysis is essential to diagnose the organization on
different parameters.

. Organizational development efforts can be time consuming, expensive & may have delayed pay off

periods.

The prlmary purpose of orgamzatlonal dlagnosm is to know how good or how healthy the organization is
to surviveand succeed in the changing environment. -

OD interventions are derived from theory, practice and experimentation.

Longitudinal strategy is best to evaluate the 1mpact of small-scale OD interventions.

Content analysis is a popular technlque for assessing qualitative data.

The second party peace making technique attempts to settle inter-personal and inter-group conflicts
using modern concepts and methods of conflict management.

Coercive power is based on the ability of the power holder to punish another.

Structural tactlcs cannot be employed to divide and dominate the opposition.

-
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Paper / Subject Code: 86007 / Elective : Human Resource : Organisational‘Developm‘ent

Q2 A) What are the Principles of Organizational Development?

B) Explain the Importance of Organlzatlonal Development.

C) “An Organizational Development intervention is usually a top down act1v1ty that is initiated by
the senior management to improve organizational effectiveness”, justify the statement with
the help of suitable example from the corporate.

D) What are the emerging trends in Orgamzatlonal Development‘7

Q3 A) What are the tools used in Orgamzatlonal Diagnosis?
B) Do you think change can be planned? Explain the levels of Planned change
C) Explain the Phases of orgamzatwnal Diagnosis.
D) Explain the factors determining Organizational Change.

Q4 A) What are the Features of Organlzatlonal Development 1ntervent10ns‘7
B) Explain the Modern techniques of Organization Interventions.
‘ OR
C) Explain the types of Organlzatlonal Development Interventions.
D) Explain the Process of Organizational Development Interventions.

Q5 A) What are the issues related to Client relationship?
B) What are the ways to enhance Organizational Effectiveness? .
OR

Q5 C Write short notes on: (Attempt any 3)

Ethics in Organization Development /

Politics and Organization Development, -
Components of Organizational development.
Survey feedback as a technique of OD mterventlon
Organizational Renewal.
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Time: 2% Hours Total Marks: 75

Note — (1) All questions are compulsory.,i
(2) Figures to the right indicate marks.

Q. 1 (a) Multiple Choice Questions (Any Eight) : 8)
I project are thOSe in whlch the ownersh1p is shared by government and by
. private entrepreneurs. < :
a. Public
b. Private w
c. Joint secfgor
d. Normal"f

2 A  isa problem scheduled for solut1on
PrOJect Re

Plan

Schedule

Workflow

o &g

3. In_ o matnx orgamzatlons power and authority are shared between the
~ functional managers and the project managers. '
Strong

b. Weak R

c. .Balanced

d. Planned

®

4. A study is used to determme the- v1ab111ty of anidea
In deep A - :

Feasibility

Overall -

Detailed

T B

5 : helps to s1mpl1fy the busmess processes and make them faster and efficient
: ; Informatlon &

Commumcatlon
E-commerce _j'
Dig’italization‘

ao op

6. Product mix is also known as
v, Marketlng Mix
~ b. Product Analys:s ,
c. Product Assortment
d Product Allotment
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Paper / Subject Code: 86008 / Finance: Project N_[élnagement

b aid is provided to small as well as medium scale units promoted by
eligible entrepreneurs
a. Seed capital
b. Preference shares
c. Subsidies
d. Equity shares

8. To reduce scheduling risk tools such as is used
a. Work breakdown :
b. Work structure , ;
c. Breakdown structure : A :
d. Work ‘integrat;ion ’ :

9. Capacity is the ab111ty ofa glven system to produce _within a specific time.
a. Output : ; :
b. Product
c. Guidelines
d. Rules

~ 10. Once the initial level of maturity & areas of improvement are identified,
~ provides a roadmap, outlining the necessary steps to take
“towards project management matunty advancement & performance improvement.
a. Capacity . '
b. Contlnuous 1mprovement
c. Procedural :
d. PMMM

Q.1 (b) True or False O - : 0
Profit maxrmlzatlon is the prrme ObjeCtIVCS of public sector prOJect
A strategic Business Unit is not a functional unit of a business.
IRR is the rate of results that a project earns.
Time i 1s not the most 1mportant constramt of any project.
Planning is an 1terat1ve process i
A feambrhty study 1__sused to determine the validity of an idea.
: Strengths are the competitive ‘advantage one has in the market place.
Lean manufactunng ongmated from the Toyota Production system.
Capltal notes are one type of debt vehlcle

‘°?°"?~19‘S":‘*'9’!\’:“

10. Risk — free rate is theborrowm_g rate of the investor.

26573 g Page 2 of 4

BFC16B0AB48DABCDD9A45FE74D1FB03F
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Q. 2 () Star Limited is considering the Two mutually exclusive project. Both the project got

an useful life of 5 years and the cost of capital is 10%. The initial outlay ivshRus. 2,00,000/-.

= sy
The future cash inflow of Project I and 1I are as follows: =
Year Project I Project II
1 35,000 1,18,000
2 80,000 60,000
3 90,000 40,000
4 75,000 14,000
3 20,000 13,000
L Year 1 Year 2 Year 3 Year 4 Year 5
PV ofRs. 1 @:10% 0.909 0.826 0.751 - 0.683 ~ 0621

You are required to evaluate the p;gject based on NPV. .

- OR

Q.2 (b) Discuss various types of organiﬂzvafi’onal structure.
Q. 2 (¢) What is the importance of project planning?

0
M &

Q- 3 (2) Calculate the degree of operating leverage, degree of financial leverage and the
' degree of comblned leverage for both the firms and glve your opinion on the same:

BFC16B0AB43DABCDD9A45FE74D1FB03F

a5
Firms ABC PQR"
Sales (Rs.) 3,60,000 7,50,000
Variable cost per unit (Rs.) 520 7150
Fixed Cost (Rs.) ) 72,000 1,40,000
Output (Units) 6,000 1,500
Interest 40,000 80,000
Q. 3 (b) Discuss the importance of Project Feasibility Study. ®8)
Q.3 (0) ’Explain in'detail Product Mix aﬂelysis. @)
Q.4 (a) Followmg is the Balance sheet of Summer Ltd as on 3 1* March, 2021 (15)
Liabilities - ‘4 Rs. Assets. Rs.
4.50,000 Equlty Shares I0,0Q,QOO Machinery 4,80,000
of Rs.20 each A8 ‘
Securities Premium 2,00,000 ‘Furniture 2,00,000
General Reserve 4,78,800 - Stock 12,40,000
Profit & Loss A/C - 3,14,000° Debtors 4,12,000
-| Creditors : 8,18,000 Cash in hand 6,800
Provision for Tax 3,96,000 - Cash at Bank 8,68,000
‘ " 32,06,.800 32,06,800
< 2657% Page 3 of 4
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Company transfer 20% of profit after tax to general reserve.
Net Profit before Taxation for the last 3 years have been as follows:

1. For the year ended 31/03/2019 Rs. 5,44,000-

2. For the year ended 31/03/2020 Rs. 7,32,000

3. For the year ended 31/03/2021 " Rs. 7,88,000 :
Machinery is valued at Rs. 6,37,200. Average yield is 20%. The rate of Tax is 50% Use <
simple average. Calculate value of equlty share as per intrinsic value method and y1e1d
method. < N :

OR-

Q. 4 (b) Discuss in detail Broject Management Maturity Model 2 8)
Q. 4 (c) What is project audit life cycle? Explain its phases. : ‘ @)
Q. 5 (a) Case Study | . \ s)

Moon Ltd. intends to invest in a project where-in the capital investment would be to the
extent of Rs. 5,000 lakhs depreciable equally over five years. The tax rate applicable to the
company is.30%. It is consideringga'vailing a five year term loan from XY Bank Ltd. to the
extent of 70% of the project cost. The principal amount of this loan would be repayable
equally along with interest payable on reducing balance. The-i interest rate- would be 9% per
annum. The prOJected earnings before interest and tax for the next five years are — Rs. 1 120
lakhs, Rs. 1,260 lakhs, Rs. 1,400 lakhs Rs. 1 470 lakhs and Rs. 1,610 lakhs. -
You are required to prepare ¢

a) Income statement for the 5 years

b) Amort1zat10n schedule for loan.: »

c) Calculate debt serv1ce coverage ratio and 1nterest coverage ratlo for the above 5 years.

s ‘ & = 0OR
Q. 5 (b). Short Notes (Any Three) : ~ (15)
1) Types of Risks in Projects :
2) Work Breakdown Structure
© 3) Lean manufacturing.
4) Capacity plannlng :
5) Project Management Informatlon System (PMIS)
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Paper / Subject Code: 86006 / Elective : Marketing: Retail Management =

Duration : 2;;\5‘hours e , Total ’marks:*75‘
N.B.: 1. All questions are compulsory. »
2. Figures to right indicate full marks.

Q1. A Choose the right answer (Any eight) \
1 Retail is the end or final stage of any. -
a. Economic Act1v1ty b. Tradmg c. Manufacturmg d Wholesale

2 Technology is one: of the dynamlc factors respons1ble for the growth of
retallmg : ; .
a. Unorganlsed b. Orgamsed c. Chain d. Convenrence W

3 is a proven technology for automatlon data collectlon needs of the busmess ‘
a. Barcodmg b. Radio Tags . Shelf Number d Bill Tag

E: % factor mﬂuences a retarl shopper in the buy1ng process
a merchandrse range . b. travel time c. locatron d. alI the above
5 ~ Retailing means sale of goods or commodities in A : quantlties directly to
~ consumers. 7 :
a, Macro b Bulk c. Small d. Wholesale _7

b Customers who are satlsﬁed Wrth the serv1ce ofa company are llkely to advertrse
= positive oy recommendatlons b
a. Word of Mouth b. Purchasmg c Acqu1s1t10n d. Relatlon

t) » products enjoy popularlty and generate lot of sales in a short span of time
> and later go out of fashion. - S

a. fad b. category klllers i -3 varlety d assortment

~¥8 prlcmg refers to the practlce of usmg price that ends in an odd number.
% a. Odd b. Single Digit c. Anchor d. Leader ;

9 The fJ Layout is cost efﬁc1ent
&y 4. Grid b Race Track ¢ Freeform d. Box

10 & graphrcs help customers locate specific products & departments.
a. Maps b. Logos & Slgnage d system

’ I’;‘Q.I.B State whether the followmg statements are True or False (Any Seven)

1 .° Franchise stores are an example of unorganized retailing.

2 . Store Retailing is a tangible retailing channel where the customers buy products after
their practlcal exposure i stores.
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Electronic Shelf Label is a technologlcal method used for preventmg shoplifting at the
exit of retail stores.

Electronic retailing permits Touch and Feel ¥

Raw materials, machines are examples of Impulse ¢ customers \ N
Bar code is a series of parallel vertical lines that can be read by bar code scanners.
Consumer psychology is the study of human responses to product and service related
information and experiences.

Customer Loyalty means that customers are commrtted to shoppmg at retaller s
locations. R : . :

The process of CRM emphasizes on burldmg relationship w1th customer

In private labeling retailers will sell products under their own brand name.

Explain the signiﬁcance of organized retail. ) > P 2 8

Explain the non-store based retail formats. : £ g 7
(OR) : &

Discuss the factors responsrble for the growth of ‘organized retail in India. - ' 8

What is e-tailing? Explain the advantages and hmxtatlons of the same. &y 7

Explain the factors influencing retail shoppers ot Oy > 8
- Discuss the four cus_tomer retention approaches ; - A 7

, » (OR) : . R

Explain the steps in developmg retail strategy - < \ 8

Discuss the changing profile of retail shopper ., " 7

What do you mean by prlvate label" Explam the. categorles of private label brands 8

Explaln the process of merchandlse ‘planning. Q 7

¢ - (OR) 4

Explam the followrng concepts 2 ’ 8
. Category Captain, Buying Cycle in Retail & Staple merchandlse

What is varlable pricing? Discuss 1ts types § 7

Explain the responsrbllltles ofa retall store- manager 8
Explaln the tools used for v1sual merchandlsmg 2

| y - (OR)

Short Notes (Any three) . e 15

Airport Retailing ‘ N

-Digital signage

Young and Rubicam’s Brand Asset Valuator
Career options in retail
5 S of Retail Operation
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Paper / Subject Code: 86011 / Finance: Strategic Financial Management < q \ 0 T\ B rb

2 % Hours] i 4 [Marks: 75]
1) Q. 1 is compulsory.

2) Q.2 to Q.5 are compulsory with internal choice.

3) Figures to the right indicate full marks.

4) Workings should form part of your answer.

5) Use of simple calculator iS*allowed.’

Q.1(A) Choose correct alternative and rewrite the statement: (Any 8) ®
> Under Walter dlvrdend pohcy ifr< ke the firm should have __payout
ratio . '

a) Zero dlvldend
b) 100%:di”\}idend >

¢) Anydividend

d) 50% d1v1dend

2. e is a situation where a constraint or budget is placed on the total size of
capital expenditures during a particular period. ~
~‘a) Capital budgeting -
_b) Capital rationing
c) Cost of capital
d) Leverage o¥

L]

3, The relatlonshlp between d1v1dend per share and earnmg per share is

4, VPI of a pro;ect is the ratzo of present value of inflows to

%)) Dividend yield ratio =
~~b)  Dividend payout ratio -

c) - -Book value per share

d) Pr1ce Earnmgs ratlo

~a) Initial cost

"~ b) PVeof outflows
c¢) Total cash inflows
d) Total outflows

&S, - " represents those funds whlch are requrred to manage day-to-day

30714

- business operatlons

" a) Long term capital
b) Short term capital
¢). ~Working capital
d)- None of above

6. < 4'“ isa schematlc representatlon of several decisions followed by different
~ chances-of the oceurrence. -

a) Sen81t1v1ty analysis

b). Probability techmques

c) Risk Adjusted Dlscountlng Rate
«d) Decmon Tree ¢

7 Net Profit for calculatlon of EVA is
. a) NPAT -
b) NPBT
£C) NOPAT
- d) NOP..
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Paper / Subject Code: 86011 / Finance: Strategic Financial Management

8. If a profit-making company is absorbed into a loss-makmg company, then this is a
case of 5 -
a) Hostile takeover bid
b) Horizontal merger
¢) Reverse Merger
d) Takeover :
9. In case of Sub- Standard Asset (unsecured), provision for NPA: should be made at
a) 15%
b) 25%
c)40%
d) 100%
10. Whlch among the followmg is short term sources of working cap1ta1 financing?
a) Bill discounting :
b) Letter of credit :
) Commercial paper.
_“d) All of the above ot
Q.1 (B) . State whether given statements are Trueor False: (Any 7) >y () A8
1. "MM model deals with irrelevance of dividend decision. : ’ u
2.~ Under Walter dividend pohcy, ifr= ke ‘the ﬁrm is 1nd1fferent between d1V1dends and
" investments.
3. Capital budgeting deals w1th long. term decisions.
4.  An estimation of the present value of cash for high-risk 1nvestments is known as Risk
adjusted discounting rate.
5.. Corporate governance is the system of rules, practices and processes by which a firm is
- directed and controlled.
6.  Inorder to protect the earnings avallable to shareholders; the swap ratio should be
based on EPS. :
7. ~Trade credit is a spontaneous source of finance.
8. In hostile takeover bid, the price of the merger depends upon the mutual consent.
9." Vertical merger involves a merger between two firms operatmg and competing in the
: same kind of business.
10. Workmg cap1tal represent those funds wh1ch are requlred to manage long term business
\ operatlons =
Q.2 (A) Butter Ltd provrded you with the followmg mformatron @)

Earnings Per Share is Rs. 18
Rate of return: expected by mvestors 18 12% A
Internal rate of return is 15% :

_Calculate the prlce per share by ‘Gordon Approach’, if dividend payout ratio is 25% and 75%.

30714
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Q.2 (B) Akshay Ltd. is considering new proj ec’tis‘for investments. The two altemative investment
proposal are Project ‘Red’ and Project ‘Blue’. The cost of each project is estimated to be

Rs. 75,00,000. The cash inflows from the projects are expected as follows: _ ‘ 8)
Year Red Blue ‘
1 30,00,000 42,50,000
2 22,50,000 27,50,000
3 17,50,000 20,00,000
4 15,00,000 16,00,000

The current yield on government securities is 8% and the risk premium for Project Red is 5% and
Project Blue is 7%. Which investment should be preferred by Akshay Ltd.?

Q.2 (A) Porel Ltd. has an eéming per share of

Discounting Rate | Year 1 Year 2 Year 3 Year 4

13% - 10.885 0.783 0.693 0.613

15% 0.870 0.756 10.658 0.572
OR

Rs. 15 and an equity capitalisation rate of 10%.
The company has an option of adopting either 40% or 60% dividend payout ratio.

Compute the market price of the company’s quoted shares as per Walter’s Model if it can

earn a return of 15% on its retained earnings.

Q.2 (B)b Sandeep Lfd is considering one o‘vf two mﬁﬁially exclusive proposals. Project ‘MI’ arid

)

project ‘CSK’, which require cash outlay of Rs 76,50,000 and Rs. 86,25,000 respectively.
The certainty equivalent (C.E.) approach is used in incorporating risk in capital budgeting
decisions. The current yield on government bonds is 8% and this considered as the risk-

free rate of return. Th

e expected net cash flow and their certainty equivalents are as

follows: : (8)
Year o5 Project MI | Project CSK
» Cash Flow (Rs.) .C.E. Cash Flow (Rs.) C.E.
1 40,50,000 10.9 50,50,000 0.8
2 45,00,000 . 0.7 40,50,000 0.7
13 50,00,000 - 10.6 45,00,000 0.9
<. Present value factors of Rs. 1 discounted at 8% at the end of year 1,2 and 3 are 0.926,

0.857and 0.794 respectively. You are required to suggest the company as to which
project should be accepted. |

Q.3 (A) Saloni Ltd has Rs. 70,00,000 allq'(:éted for capital budgeting purposes. The proposals and
-associated profitability indexes have been déetermined. @)

Projects Initial Investment | Profitability Index
AN 121,00,000 2
B 10,50,000 0.95
C 24,50,000 = 1.20
D 31,50,000 - 1:1.18
E 14,00,000 11.20
F 128,00,000 1.05

i) Calculate the Net Present Value for each of the projects
it) Which of the above investments should be undertaken? Assume that projects are

indivisible and there is no alternative use of the money allocated for capital
~.budgeting.

30714 Page 3 of 5
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Q.3 (B) Calculate Economic Value Added (EVA) with the help of the following. information of

Hypothetical Ltd. ( : 8)
Particulars :
Financial leverage 1.4 times
Equity Capital 3 Rs. 170 lakhs
Reserves & Surplus g / Rs. 130 lakhs
10% Debentures ; Rs. 400 lakhs
Tax Rate : A 30%
Cost of Equity 17.5%
: - OR
Q.3 (A) Whale Ltd is studymg the pos51ble acqulsrtlon of Shark Ltd by way of merger The ,
following data are available. 7 .
Company | After tax earnings - No of equlty shares Market prlce per
J - share
Whale | Rs. 1,25,00,000 - 10,00,000 Rs. 187.50.
Shark < | Rs.37,50,000 2,50,000 Rs. 150

i) If the merger goes through by exchange of equity shares and exchange ratio is set
according to the current market price, what is the new earnings per share of Whale Ltd.
after merger.

ii) Shark Ltd wants to be sure that their earnings per share is not d1m1n1shed by the merger,
what exchange ratio is relevant to achieve the objective?

Q3 (B) From the following information, compute the amount of prov151on to be made in the

Profit & Loss Account of Bharosa Bank 8)
Assets , &5 o Rs (m Lakhs)
e Standird assetsc ; e 150,000 -
o Sub-Standard assets (fully secured) & " {32,500
e Doubtful assets: _ v A
~ » Doubtful for less than one year 15,750

(Realisable value of security Rs. 3 500) , 4%
, > Doubtful for more than one year but less than three | 5,250
Ao Yeats (Reahsable value of security Rs.1,500) .~

» Doubtful for more than three years (Unsecured) 2,500

e Loss Assets o ‘ 1,750

Q.4 A company i is con51dermg takmg up of one of two projects ‘Alpha’ and ‘Beta’. Both the
projects have the same life, require equal investment of Rs. 80 lakhs each and both are
estimated to have almost the same yield. As the company is new to this type of business,
the cashflows arising from the projects cannot be estimated with certainty. An attempt
was; therefore, made to use probability' to analyse the pattern of cashflow from either
project durmg the first year of operation. The pattern is likely to continue during the life of

these pro;ects The results of the ‘analysis are as follows (15)
Project Alpha Project Beta
Cash Flow (Rs in lakhs) Probability Cash Flow (Rs. in lakhs) Probability
12, : {0.10 = 8 0.10
14 i - 0.20° 12 0.25
16 > A 0.40 16 0.30
18 0.20 20 0.25
i) % 10.10 24 0.10

Which of the two projects would be riskier based on the criteria of coefficient of variation.

- 30714 & ' Page 4 of 5
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OR
Q.4  Natsya Ltd. requests you to prepare a statement showing the working capital requirements
forecast for a level of activity of 1,09,200 units of production. The following information

is available for your calculation. : (15)
Cost sheet | Rs. (per unit)
Raw material < 163.00"
Wages 28.00
Overheads s 52.50
a2 143.50
Profit 42.00
Selling price ; ] 185.50

Additional Information; : & :
i) Raw materials are in stock on average one month.
ii) Materials are in process, on average 2 weeks.'
iii) Finished goods are in stock, on average one month.
iv) Credit allowed by the suppliers - one month.
v) Credit allowed to debtors = 2 months..
vi) Lag in payment of wages — 1 % weeks.
vii) Lag in payment of Overheads - one month. ,
20% of the output is sold against cash. Cash in hand and at bank is expected to be Rs.
42,000. It is to be assumed that production is carried on evenly throughout the year.
Wages and overheads accrue similarly and a time period of 4 weeks is equivalent to one
month. ‘ , ; ;
Also Calculate Maximum Permissible Bank Finance as per Tandon committee assuming

that core current assets are 25% of total asset.

Q.5 (A) What is sensitivity analysis? What are its merits? A = t))
(B) Define working capital? Explain various strategies of working capital financing. @)
Q.5  Write Short Notes on: (Any three) NG : @15)
~-a. Corporate Governance
~ b. Decision Tree Analysis ©
¢. Advantages of XBRL
d. Types of Mergers
e. Commercial Paper
sk skskokok ok ok ok
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Y8 M3 Paper / Subject Code: 86003 / Marketing:Brand Managemeni Q_G\ oul 23

[Time: 2% hours] & _ [ Marks:75]

Please check whether you have got the right question paper.
N.B: 1. Figures to the right indicate full marks. .~

2. Draw suitable diagrams wherever necessary

3. Illustrate your answers with examples .

4. Rewrite the questions for Q1.a and b.

Multiple Choice Questions (ANY EIGHT) ‘ | ‘ (08)

are the means by which firms distribute their products to consumers. (Parties, Retailers,
Suppliers, Channels) A 3 :

is the act of creating a brand.(Promoting, Branding, Advertising, Drawing) :
marketing promotes a product by not only communicating a product’s features and benefits -

but also connecting it with unique and interesting consumer experiences. (Experiential,
Personalized, Permission, Relationship)

. A brand if properly managed can be . (successful, superior, timeless, sophisticated)

are short phrases that communicate descriptive. or persuasive information about the
brand.(Rhythms, Slogans, Tone, Jingle) ‘ v

and knowledge complete the hierarchy and combine to form the brand stature construct.
(Differentiation, Relevance, Information, Esteem) \ -

. Brand often represent key sources of brand value, because they are the means by which
consumers feel brands satisfy their needs. (associations, competitions, building, complexity) -
. THE determines the marketing program’s- ability to affect the customer mind-set and is a

function of the quality of the program investment. (customer multiplier, market multiplier, supplier
multiplier, program multiplier) : ”

A is a means to designate a specific item or model type or a particular version or configuration
of the product.(modifier, designer, graphics, creative) : ‘

+10.The brand is the set of all brands and brand lines that a particular ﬁrm offers for sale to buyers

b.
1.
2.
K 3
4.

8.
6. The customer multiplier does not determine the extent to which value created in the minds of

T
8.

9.

in a particular category.(boundaries, associators, perception, portfolio)

State whether the following statement is TRUE or FALSE (ANY SEVEN)

Brands share a great relationship of goodwill with consumers.

Brand elements, sometimes also called as brand identities.

Marketers have been forced to use so many financial incentives or discounts as the marketplace has
become more competitive. : el ;

Personalized marketing tools play a strong role in helping marketers, incorporate customization on
various levels of communication and marketing. . .

Brand personality is defined as a set of human characteristics associated with a brand.

customer affects market performance. D &

Revitalizing - brands involves ensuring innovation in product design, manufacturing, and
merchandising and ensuring relevance inuser and usage imagery.

Brand hierarchy is a system that organizes brands, products, and services to help an audience access
and relate to a brand. (i A

Brand identity are customers’ emotional responses and reactions to the brand.

10 Brand resonance are customers’ personal opinions about and evaluations of the brand, which

consumers form by putting together all thesdifferent brand performance and imagery associations.
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. Case Study

Paper / Subject Code: 86003 / MarketingEBrand Management

Answer the following

. Illustrate the Strategic Brand Management Process with example. & -
- An experiential marketing helps the brand manager to build customer loyalty? Give reason.

OR '

. State the qualitative research technique fqrfmanaging brand.
. Describe the term line extension? State its advantages.

Answer the following

. List down different types of pricing Vstrategi‘es. used by D’mart brand manager to sustain the brand

in the market.

. Summarize the Brand Asset Valuator (BAV) model in brief,

OR

. Diagrammatically represent the brand product matrix with example.
. Differentiate between Brand versus Product '

Answer the following

- Reproduce Brand Value Chain model in:fdetail with examples. £ -
. State the various branding challenges and opportunities faced by brand manager for managing

brand Zara. :
OR

- What are brand elements? Explain the criteria for choosing brand elements. ‘
- A brand is not built and manage domestically but-also internationally. In the light of the above

statement explain various factors considered for building global customer-based brand equity.

. Write Short Notes on (ANY THREE)
+ Scope of branding

- Types of leveraging.

. Brand awareness pyramid.

. Brand architecture.

. Brand hierarchy.

OR

It was a simple, one-line brief: Agar product chatpata ho, toh aapki aankh bandh honi chahiye, varna
maza nahi aaya (if the product is tangy, then your eyes should close automatically to relish it, or else
it is no fun). That was the lone instruction from Rajiv Kumar, vice chairman of the DS Group, for

‘his R&D team working on the Pass Pass Pulse candy. So far, it has proved to be the only one that

matters: Within a year of its launch, Pulse contributed over Rs 150 crore to the DS Group’s kitty.
With Pulse, the idea was to bring in some innovation in the hard-boiled candy segment, where
changes are typically restricted to newer flavours. At the outset, they had observed that raw mango
and mango flavour together constitute about 50 percent of the total candy market in India—of this,
almost 26 percent was raw mango. It was clear to them that this was the flavour they wanted to

~innovate on. “Kaccha aam as a flavour is loved across all age groups and demographic markets. So,

the right balance of this raw mango flavour mixed with tanginess gives you a very different feel and
that is what has clicked. He also believes the candy market was largely skewed towards children,
not so much the youth and adults. They sought to address this gap with Pulse.

Questions o A

a. Bring out the Customer Based Brand Equity model (CBBE) with regards to Pulse candy
brand. :

b. State the point of parity and point of difference through the brand Pulse.
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Q2
ke ¢ '\.(Bm S Paper / Subject Code: 86004 / Human Resource : HRM in Global Perspective 2.6 \O a ‘ 3

Duration : 2.5 Hours Marks: 75
N.B 1) All questions are compulsory.
2) Figures to the right indicate the maximum marks .
Q.1 (A) Choose the correct answer and rewrite the statement. (Attempt any eight) ®)
1. The scope of international human resource management (IHRM) includes:
(a. staff recruitment, b. staff development, c. compensation, d. all of the above)
2. To be effective in the international environment HRM policies must:
(a. reflect an international view, b. accommodate differences in management styles, c. focus on
domestic issues, d. effectively transplant HRM policies and practices from the home country to
all other offices.)
3. A major difference between domestic and international HRM is the result of:
(a. increased complexities such as currency fluctuations, b. foreign HR policies and practices,
and divergent labour laws, the number of employees covered by the hr policies, c. the ease with
which employees adjust to new cultures, d. the emergence of effective cross-border management
styles.)
4. Global assignments in which employees are sent to understand global operations and are
required to have intercultural understanding are called:
(a. strategic assignment, b. development assignments, c. non deyelopment assignments,
d. managerial assignments.)

5. The following are valid reasons for using an ethnocentric international staffing strategy,
except:
(a.maintaining a unified corporate culture. b.maintaining a diverse corporate culture. c.lack of
qualified managers in the host country. d.maintaining tight control.)
6. Which of the following factors is least likely to be directly related to the success of an
i expatriate assignment?
(a.The personality of the expatriate. b.The intentions of the expatriate. c.The inability of the
spouse to adjust.d.The type of products produced by the organization.)
7. Expatriate failure is best defined as:
(a failure to recoup the costs of investment in an expatriate.b. early return of the expatriate.
C.repatriation. d. re-assimilating the expatriate.)
8. Offshoring is
(a. Substituting foreign for domestic labor. b.Subcontracting a part of production to another
Jirm. c.Exporting d.Importing)
9. Martians Co. of the UK has expanded to 7 countries in South America. All its managers
are UK citizens. The company relies on:
(a. a host-country national. b. an expatriate. c. a foreign assignment. d. all of the above. )
10. MNEs from are more likely to rely on home-country managers for senior
positions. (a. EU. b. US. ¢.Japan. d.India)

Q.1 A) State whether the following statements are True or False :-( Any seven) @)
1. Expatriates are known as road warriors, globetrotters or flex patriates.

2. PCNs are managers who are citizens of countries other than in which MNC is headquartered.
3. Ethnocentric policy is best when it comes to Global HRM.
4. There is more risk involved in domestic HRM as compared to international HRM.
5. To keep expatriates whole is the basic characteristic of Going Rate Approach.
26317
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Paper / Subject Code: 86004 / Human Resource : HRM in Global Perspective

6. Reverse cultural shock means returning to one’s home culture after growing accustomed to a
new one.

7. Local plus approach is used for short term assignments and temporary transfers.

8. Organizations need to be restructured in order to be more competitive.

9. Expatriates should have an introverted personality.

10. Third country nationals are also known as headquarter nationals.

Q.2) A. Explain the features and significance of International Human Resource Management. (8)

B. What are the essential qualities of global managers?

State some qualities with examples of global managers. @)

OR

Q.2) C. Differentiate between IHRM and Domestic HRM (8)

D. Cross-cultural sensitivity is a must to handle a global cérporation.
State some issues in handling cross cultural developments. @)

Q.3) A. Explain the criterias for expatriate selection : ®)

Q.3) B.A. Define International Performance Management.

Explain variables affecting Expatriate performance management. @)
OR .

Q.3) C.Discuss the approaches to international compensation. 3 8

Q.3) D.What do you mean by Cross Cultural Training?

Discuss the issues related to Cross Cultural Training. @

Q.4) A. Discuss the significance of using expatriates for global assignments. ®)

Q.4) B. How do you repatriate? Explain the process of repatriation. @)

- OR

Q.4) C. Is family significant in expatriation? State the role of family in expatriation. €))

Q.4) D. What do you mean by repatriate? State the various challenges of repatriation. @

Q.5) A. State some significance of Off-Shoring. (6))

Q.5).B. What are the ways to manage HR in a virtual organization? State a few examples. (Z)
OR :

Q.5) Write short notes on:- (Any Three) (15)

1) Non -Expatriate

2) Trade Union and International IR

3) Criminalization of Bribery

4) Knowledge Management and IHRM
5) Role of technology in IHRM

Thdkddbttdn
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Paper / Subject Code: 86010 / Human Resource : HRM in Service Sector-Management

(2% hrs) (Marks: 75)

Note: - All questions are Compulsory
Put example and diagram wherever necessary
Figures to right indicate marks. '

Q.1 (a) State whether the follovt"ing statelnents are ‘True’ or ‘False’ (Any. Eight) = (8)
Services are charactermed only by homogenerty > e

Services marketmg ﬁrst came: mto ex1stence in the 1980’

Management does not help the orgamzatlon to achleve its. Ob_] ective.
Service quahty is the key of survival to all serv1c1ng companies.
Management can lo,s_e'lts authority and power by empowering its employees.
Employees face real challenges in suppressiny their true feelings.

Brokers bring buyers and sellers together while as.slstmg in negotiation.

A pubhc sector organization is one that is operated by the government.

oo e S TR R BB e B

Social enterpnses can be structured as a for-profit.

10 The causes of low morale can vary by busmess

Q.1 (b) Match th_é, Columns: (Any s,even) = > & AT Ty
Group ‘AT A e Group ‘B’

L Serv1ce : o a. Tertiary sector ’

2. Heterogeneity Y |-b. Intangible »

3. Service sector: ~ | c. Makes it difficult to estabhsh standard

4. Service cape. _ | d. Third party markets

5. Referral markets e. Moment of truth

6. Service encounters f. Booms and Bitner

7. External marketing Je Boundary spanners

8. Internal marketing - | h. Establish a long term relationship with customers

9. Interactive marketing - i. Employee knows strengths & weakness of organization
10. Front line services ) _] ‘Grab the attentlon of the market

Q2. Answer any. two from the followmg

_(a) Explain the meanmg and features of services. )
(b)What are the reasons for growth of service sector? @)
‘ o OR
(c) How is service culture -developed in organization? 8)
(d) D1scuss the six market model. @)
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TY®MS, Paper/ Subject Code: 86010 / Human Resource : HRM in Service Sector Management z C‘\

Q3.Answer any two from the following

(a) Service triangle. Explain briefly. : : (8
(b) Strategies for managing emotional labour. Explaln brleﬂy , IR
OR - Lol :
(c) Explain the challenges in recruitment in service sector AN ®
(d) How can the manager motlvate employees in service mdustry‘? : (7

Q.4 Answer any two from the followmg

(a) What do you mean by service quahty‘7 Explam its dlmensmns. St % @8
(b) Explain the serv1ce gap model o : @)
~OR :

(c) Reasons and strategies adopted to fill the gaps in service gap model. Explain? (8)

(d) Discuss advantages and challenges of delivering services through agents and

brokers” ' i (@)
Q5. Answer any two from the followmg ; o g
(a) Discuss the reasons for attrition in service: sector. e 3)
(b) DlSCUSS cycle of fallure cycle of medlocnty, and eyCle of suecess. N @)
R , , :
Q 5 erte Short Notes on: (Any three) ¥ (15)

1) Organizational effectiveness :
ii) Creating a leadmg service organlzatlon
1ii) Servicescape o
iv) InterVJewmg techniques -
v) Quality i 1ssues in servxce

ks Aok ko ok o
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Management
[Time: 2.30 Hours] - A [Marks: 75]

N.B.: Please check whether you have right question paper.
1. All questions are compulsory

2. Answers to sub-questions must be written together

Q.1. A. Fill in the blank choosin”é correct dption (ANY EIGHT) » (8 Marks)
1. The word Manageme’nt» ismentioned as ______ in Bible.
a.Assistance | % | b.Stewardship
c.Leadershi_p ; ; d.Slavery
2 refers to se:z:irch for a basic deep-rooted human values and a relationship with a

universal source, power or divinity.
a. Spirituality ‘ b.Humanity
c.Dignity d. Enimity

3. Ethos is related to

a. Right and Wrong : b. Customs and Traditions
c.Honesty and Morality‘ d. Good or Bad

4. Poor work culturé leads to

a. Reduced politics ‘ b.More disci‘pﬁned employees
c.Poor commitment \ d. Improx)éd Punctuality

; 5 Accordiﬁg L every work, big or small, is important and hence should be
respected. :
a. Disciplinev b. Work Pressure
c. Punctuality ‘ d. Dignity of work

6. means the manager should be honest to himself and to his organization.

a. Responsibility ” v b. Dignity of work
c. Integrity of Thoughts d. Truthfulness

7. A factory worker performing repetitive tasks might experience

- a.Hyper Stress _ b.Hypo Stress
: c.Acute Stress | d.Distress
10811 : i Page 1 of 3
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in"Management

8. is also called as Third Eye Meditation. ‘

a.Vipassana Meditation A b.Mantra Meditation -
c.Raja Yoga Meditation s d.Trataka Meditation

9. The students, in Gurukul system, use to stay

a. in their own house < = " b, away from Guru

c.with guru at the ashrgm;‘:u : H d.in the king's palace - 2
10. is asesigh within oneselt. o i > S :

a. Sports | : i b. Shz'lring

cTalkmg ‘. d. Sllence

Q.1. B. State whether the followmg statement is True or False (ANY SEVEN) (7 marks) .

SelfDevelopment is a one: tlme process

Ethics and Ethos are the same.
:;Spmtual prosperity enables the person to have peace of mind.

Work Ethos leads to better employee engagement % v
Transfusions are those values ‘which are followed by people across d1fferent cultures
The manager: must be honest to hlmself and the orgamsatlon *

:‘There are no physical consequences of stress."
~Raja Yoga Medltatlon isa form of meditation Wluch is accessible to all urespectlve of
© religion, status etc. S ;
9. Tamasik Personahty refers to letharglc crooked, heartless people. - v

10. Sadgl means s1mple llvmg and hlgh th1nk1ng i

-s>°_.\'.°\sﬂ“»:>s».~.~

J Q2 (a) State the meanmg of Indlan Ethos State the need fo study Indian Ethos to manage Indian
- businesses. » ) (8 marks)

Q2 (b) What management _lessons you can draw frcrn holy Bible. (7marks)
Q2 (¢) D1fferent1ate between Indlan Management and Western Management System.(8 marks)

Q2 (d) Define Ethos Explam its features : (7 marks)
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Paper / Subject Code: 86019 / Elective: Human Resource : Indian Ethos in Management

Q3 (a) Discuss the factors responsible for Poor Work Ethos i in an orgamsatlon

(8 marks)

Q3 (b) Compare Secular and Spiritual Values in contextof management of orgamsatlon »

OR

Q3 (c) Which values are unportant for Indlan Managers ‘?

Q3 (d) Describe the concepts

i. Sam, Dam, Danda, bhed 3
ii. Nishkam Karma »

Q4 (a) Discuss the causes of Stress at workplace

Q4 (b) What is Medrtatron" Dlscuss some popular techniques of Medltatron

Q4 (c) Discuss the qualities of Karta is Joint Hindu Family Business.

‘OR

(7 marks

(8 marks)
(7 marks)

8 marks)

@ :'marks)

(8 marks)

Q4 (d) Descrlbe the concept of Bralnstormmg along with its advantages and lrrmtatlons

(7 marks)

S Q5 (a) What are the qualltles of a well rounded personallty as per Indlan Management thought ?

Qs (lj) Compare Gurukul System ofﬁEducation with Modern System_.;

" OR

Q5 (c) Write short notes on ANY THREE of the following:

: i
il.

ii.
iV,

.

10811

Dimensions of Work Ethos

, Corporate Karma £
" Values for Indian Managers.

Management lessons from Arthashastra

Difference betjaieen Ethoisﬁzand Ethics.
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Paper / Subject Code: 86005 / Elective : Finance: innovative Financi,al’mServic‘es‘_-ff‘):

TIME: 2.5 Hours ™ N O MARKS 75

Note: 1.Qlis compulsory.
2. Q2 to QS are compulsory wnth lnternal chorce
3. Figures to the right indicate full marks.
4. Give working notes, wherever necessary

Q1. (A) Select the correct answer from the multlgle chonce questions (AnxS) 2 , €))

B isa pnvxlege of credit card offered to the famlly members
(a) Add-on cards (c) Debit cards
(b) Creditcards -(d) Health cards . ;

2. It is mandatory that all public issues should be managed by -
functioning as the lead managers. | .
(a) Underwriters (c) Bankers .-
(b) Brokers. () Merchant Bankers

K 5 is-fund based services.:

.'(a) CreditRating ~ (c) Hire purchase -

(b) Stock broking:  (d) Custodian services .

4. Apex institution of housing sector is
(a) National Housing Banks (c) NABARD
(b) SEBI - % (d)IDBI

5. Under forfaltmg the client is able to get credit fac111ty to the extent of
(a) 60% of the value of the export bill .
(b) 80% of the value of the export bill-
(c) 100% of the value of the export bill
(d) 20% of'the value of the export bill ;

6..-In accordance with the bill redlscountmg scheme, the b111 should have

© maximumof days :
(a) 60 (b) 90 (0180 (d)*360
7. Credit Protection is avallable in o

(a) Without Recourse factormg * (c)Bill dlscountlng \
(b) W1th recourse factoring -~  (d) securitization

8" is the process of updating the accounts of the trading parties.
(a) Underwntmg (c) Bankmg
(b) Clearing - (d) securitization

9. refers to the raising of finance by md1v1dual for the acquisition of
‘durable consumer goods.

~(a) Factoring (b) Leasing (¢) Bill dlscountmg (d) Consumer Finance

10. Category Merchant banker can act only as advisor or consultant to an
issue.
@71 (b) II (c) I (d) IV

Ql (B) State whether followm s_tatements are True or False @)
1. Bill Discounting is a short term source of finance.
~2. A cettificate of 1 reglstratlon should be obtained from SEBI to act as a clearing
' member.
3. Lessor is the. owner of the property or assets who gives it on lease.
4. Smart card is a tiny integrated circuit chip card.
5. The first credit ratmg agency in India is CRISIL.
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_r‘\{ (b'M‘.') Paper / Subject Code: 86005 / Elective : Finance: Innovative Financial Services "9—8\ o
{ ' A fs, ~ S

Q2. (A) What are the characteristics of fmanc1al services? r @)
(B) Distinguish between Factoring and Bill Discounting. =" (8)
OR
Q2. (P)Explain types of Factoring, : ()]
(Q) Anita owes Neeta a sum of rs.6000. On 1 April,2021 Anita gives a promissory
note for the amount for 3 months to Neeta who gets it discounted with her bankers for
rs.5,760. On the due date the bill is dishonoured, The bank paid rs.15 as noting charges.
Anita then pays rs.2000 in cash and accepts a bill of exchange drawn on her for the -
balance together with rs.100 as interest. The bill of exchange is for 2 months and on the
due date the bill is again dishonoured. Neeta paid rs.15 as noting charges Pass the
Joumal entries to be recorded in Neeta sbooks. . \ = (8)
Q3. (A) What are the serv1ces provided by Merchant Banker? S )
(B) List out the function of stock broker. A7 @)
o r , :
Q3.  (P) Define Securitisation.Explain the benefits of Securitization. : )
(Q) Explain the Participants in Denvatlve markets. (G o (8)
Q4. On IstApril, 2018, Trend Itd purchased machmery from Rehance Ltd on h1rc purchase
basis. The cash price of the machinery was rs.5,00,000. The payment was to be made
’ 15.1,00,000 on the date of agreement and balance in four annual instalment of
rs.1,00,000 plus interest at 8% p.a payable on 31st march each year. The first instalment
bemg payable on 31% March, 2019. Prepare Machinery A/c and Reliance Ltd A/c in the
books of Trend Ltd, assummg that the accounts are closed on 31st March every year
-and deprecratlon at IO%p ais charged on the original cost. "~ (15)
OR -
Q4. P Explam the features of Venture Capltal ‘ ol ©)
(Q). Explain the Housmg Fmance Agencres inIndia. -~ ()
QS. - (A) Explain the various sources of Consumer Finance:. @)
(B) Explain various types of plastic cards. : ®8)
: & OR;
Q5. Write a short notes on: (any 3) : 135)
1. Problems in Financial Services.
2. Stock brokers.
3. National Housing Bank
4. Benefits of Credit Cards.
S. Credit Rating Agencies
N sk ok sk ok e ok ok 3k ok ok ok ok ok ok
25437 : : Page 2 of 2

6. PIN stands for Personal Identification Name.

7. The non-fund based services are called asset based services.

8. The rolling settlement system is adopted by RBL

9. CIBIL Rank is between land 10 with 1 being worst and 10 bemg best.
10. AAA long term debt instruments carry highest credit r1sk
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o7y | Y@M = Paper / Subject Code: 86002 / Finance:International Finance

Duration: 2.5 Hours > : Marks: 75

Note:

1) All questions are compulsory subject to mternal choice.
2) Figures to the right indicate full marks.
3) Use of simple calculator is allowed

Q.1.

(@)
(M

@

€)

@)

)

26231 .

Multiple Choice Questions(any 8):

A is a regime where the currency pnce is set by the forex market based on supply

and demand compared with other currencies.
(a) Gold Standard
(b) Floating exchange rate
(c) Bretton Woods System
(d) Fixed exchange rate

In BOP, under account exports and imports of goods, services and unilateral
transfers are recorded. - ; gl ol
- (a) Current Account

(b) Capital Account

(c) Errors & Omissions - :

(d Foreign Exchange Reserves

comprises of aIl those institutions and individuals who buy and sell foreign

exchange which may be defined as foreign money or any liquid claim on forelgn money.

(a) International Monetary Fund o2
(b) IBRD . A

- (c) Foreign Exchange Market

© (d) Bretton woods system

When a firm lists 1ts equlty shares on one or more forelgn stock exchange in addition to
its domestic exchange, it is called as -

-.(a) Cross Listing of Shares
(b) IPO :

(c) Yankee Offering D
(d) jEfﬁcient Market Hypothesis

is a soft liberal & smphﬁed law that aims at boosting foreign trade and

investment more in tune with Cotintry s new economic environment of globalization of
Indian economy.Price

(a) FERA

(b) FEMA -

" (c) SEBIL Act

(d) Secuntles Contracts (Regulatlons) Act

Page 1 of 4
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- Q.1.(B)

Paper / Subject Code: 86002 / Finance:International Finance

The risk of loss in purchasing power because the value of investments does not keep up'
with inflation is called as «

(a) Concentration Risk

(b) Inflation Risk

(c¢) Liquidity Risk

(d) Transaction Risk

is a way of tradmg non-U S stocks on. the U.S. exchange
(a) ADR : :

(b) GDR

(c) IDR

(d) FDI

*

is currency held on depos1t outsrde its home market
(a) Eurobond
(b) Eurocurrency
(¢) Euro credit
(d) Zero Coupon Bond

is the process of assessmg, in a structured way, the case for proceedmg witha '
project or proposal, or the project’s vrablhty ‘ .
(a) Project Appraisal
(b) Project Finance -
- (c) Project Measurement
(d) Project Performance

According to _ techmque of FOREX risk management a company dealing in
international transactions must make all its payments in its domestic currency and must
have the pohcy of accepting only domestic currency from the debtors.

(a) Matching

(b) Leading and Laggmg

(c) Hedging

(@) Inv01ce in Home Currency :

State whether the followmg statements are True or False (any 7): 07)
1) The Balance of Payment Identrty is CA+FA+RA =0

2).-Gold standard has proved to be a “fair weather friend”.

3) Nostro account pomts at “Our account: w1th you”

4)  Exporters sell forelgn cnrrenc1es for domestic currencies.
5) If AFM is positive, it rénresents premium on base currency.

6) The call option is the right to sell an asset at a fixed date and price.

7) Incaseof FPI, entry and e)‘r‘it are difficult.

26231 -
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Q.2.(A)
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P)

Q

Q3.(4)
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®)

Q.

Q4(A)
B) .-

®
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Paper / Subject Code: 86002 / Finance:International Finance

8) Net Present Value = Present Value of Cash Inflow + Present Value of Cash
Outflow. < ‘
9) India is a tax haven country.

10) Dumping means selling}rgoods at h1g price in lntemational markets, v

What is International Fmance" Descnbe the emergmg challenges in 1ntematlona1‘

finance. =,
What are the components of Balance of Payment‘7 AN
2y OR
The following quote is glven in Mumba1 lUSD INR 81 2125 82. 2325
e Isit a Direct Quote in India?
e Find Mid Rate, Spread and Spread%
e Calculate the inverse quote

Identlfy if triangular arbitrage exists. and calculate the same:
USD CAD 1.1685-1.1695 %

USD CHF1.3785-1.3795

CAD CHF 1.1885-1.1895 :

Note: Compare CAD CHF quotes for calculatlng Arbitrage &
Assume Capltal CAD 1 Mllllon :

Explam global money market instruments. - ’
What i is Euro bank‘7 What are. 1ts compet1t1ve advantages‘7

OR
Cons1der the followmg 1nformat10n ' 5o
Spot : A USD = SGD 1.33200 - 1.3390
1 Month Forward S 120 - 220
2 Month Forward - S 820 - 940
3 Month Forward Ry 5 1120 =7 1220
6 Month Forward 3 \ 1980 - 2080

Calculate 1 Month Forward 3 Month Forward and 6 Month Forward USD-SGD Rate.

60 Days Forward USD-CHEF 0. 9508
Spot USD-CHF 0.9520 > )
Calculate 60 Days AFM and mterpret the results

What is FDI‘7 How isit dlfferent from FPI? '

Descrlbe the essentlal quahtles ofa FOREX manager.

OR
Given:
6 Month Forward EUR/CAD 1. 3493
EUR Interest Rate = 1.25% p.a..
USD Interest Rate = 1.75% p.a.
Calculate Spot EUR/CAD quotauon
Page 3 of 4
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From the following data, find the best‘altemative for borrowing INR 20 Million for a

Q (08)
temporary period of 6 Months. Exchange rates are against INR.
Currency Spot Rate 6 months Interest rate
%) forward rate
1. | USD 80.1250 80.8890 4.00 % p.a.
. | EUR 91.2750 1.91.8950 4.50% p.a.
3. | GBP 98.3575 98.3675 5.00 % p.a.
Q.5.(A) What are tax havens? Explam the1r beneﬁts (08)
(B)  A&N Ltd. is considering to invest in a pro;ect requiring a capltal outlay of Rs 6 ,00,000. (07)
Forecast for annual income aﬁer tax is as follows: 4
Year o’ | 1 2 13 i ool il §
NPAT (Rs.) N 3,00,,000 3,0(),000 2,40,000 | 2,40,000 | 1,20,000
Dlscount Factor @ 14% pa. | 08772 [0.7695 [0.6750 |0:5921 [0.5194
Depreciation is 20% on Straight Line Basis
Evaluate the pro_]ect on the basis of Net Present Value and adv1se whether A&N Ltd.
should invest in the project or not? - .
OR :
Q.s. erte Short Notes on (any three) ' AM15)
(P) i) Gold Standard :
ii) Functions of FOREX market
iii) "ADRs
iv) Role of FEDAI -
v) Types of FOREX Risks
26231 Page 4 of 4
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c_l;"l’ BMS Paper / Subject Code: 86009 / Marketing: International Marketing ‘23\ 6 Ll\ Q’QQE

* Total Marks: 75
Duration: 2 % hrs o 3
N.B.: 1. All Questions are compulsory

2. All Questions carry equal marks
3. Figures to the right indicate full marks

Q1 A. Fill in the blanks with approprrate option: (any 8) 8)
TG orientation refers to exporter viewing international marketing as secondary to domestlc
operations

a. Ethnocentric b. Polycentric  c. Regiocentric d. Geocentric

2. Direct Exporting means eXportrng the products ;
a. by joint venture . “ b. through mlddlernen - c. through franchising
d. by the manufacturer himself - : o7 Tl

3. Er s horlzontal expanslon of a firm <
a. Merger . b. Diversification ~ c. Combination d. None of these

4. International 'marketing research _facilitates .
a. initial entry in foreign market = b. large scale 1mports
C. expan‘sion of domestic marketing -+ d.none of these.

3. Entermg a new price slot and anew market segment is called line

a. Stretching- b.down & ﬁlllng d. all of these
6.‘~ | pricing indicates product beneﬁts
v B Target b. Value : c. Dlscount ~~d. Noneof these
4 structure v1olates pr1nc1ple of Un1ty of command
a. Matrix <~ b. Networked A€ Product d. Line
8. leferentlatlon 1nd1cates that the product is
a. unlque &L b. standard e c.common . d.all of these
9. Strateglc control includes | "‘aspects o
a. audit & b. -evaluation‘ c functlonal d.none of these

10. The International Fmance Corporatlon, an afﬁhate of the World Bank, was established in
a. 1960 Sac h 1982 W 1953 o d. 1956

Q1 B. State whether the followmg statements are true or false (any 7) @)
+~ 1. Dumping is a fair practice for entry ; in foreign market.
2. In ethnocentric orientation, an exportmg firm believes that every country is unique and needs a
dlfferent approach to match its culture and social norms
3. Trade barriers are supportive to the growth of international trade.
4. L1censmg is a term used to descrlbe the exchange of the products and services for other products
»© orsérvices.
5. EU‘is the 1nternat10nal orgamzatlon that oversee the global financial system by following the
macroeconomic policies of its member countries.
6. Packing refers to the transport of container
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7. Segmentation according to life cycle stage, age, occupation is known as behavioural segmentation.

8. A compound duty is a flat sum per physical unit of the commodity imported or exported.

9. Culture prescribes the kinds of behaviour considered acceptable in a society.

10. Feed-forward control exercises a control, when the strategy is implemented in an organisation.

Q.2 a. Define International Marketing. Explain the different orientations of international

Marketing. _ - S
Q.2 b. What is trading blocs? Explain any twe trading blocs of international trade.
Y OR
Q.2 ¢. What are the Needs for conducting international marketing research
Q.2 d. What are the elements of culture?

Q.3 a. Explain International Product Life Cycle.

Q.3 b. Explain the steps for planning International Promotional Campaigns
- OR

Q.3 ¢. What is the need for developing international strategies?

Q.3 d. What are the features of international service marketing?

Q4a. Explain the Economic Environment of International Markets,

Q4b. How to control international marketing operations by using modern techniques
‘OR \

Q4c. Explain any four types of international market entry methods

Q4d. What are the benefits of international Marketing?

. Q5a. What is the role of packaging and labelling in international market? ;
Q5b. Explain the factors influencing selection of International Distribution Channel

OR

Q 5C. Write short notes on: (any 3)

1. IMF

2. Legal Environment

3. Service Culture

4. Grey Market

5. Tariff barriers (any five)

“,vtvivl*******
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: ,_r 2 ﬁMs Paper / Subject Code: 86012 / Marketing: Media Planning & Mana'gement % q \ 0 J\Lr‘b

Duration: 2.5 Hrs 8 Marks: 75

All Questions are compulsory
Each question carries equal marks

Q.1A) Select the correct opt_iox‘i; (Any 8 out of 10) - 08 marks

1. Clutter is defined as
a) A faulty broadband connection
b) Coarse paper stock ; ;
¢) Anoverabundance of messages -
d) A promotional tool ' ‘
2 is not a strength of magazines
a) shelf-life , A
b) inherent design flexibility
¢) deadline flexibility
d) quality reproduction &
3. A specific carrier within a medium category is.
a) reach
b) frequency
) impression
d) media vehicle , A
4. Media selections and scheduling decisions associated with delivering advertising constitute a

-a) Media Plan
b) Message Weight
¢) MediaKit -
d) Problem Solving Equation
5. The flighting media schedule is

a) A hybrid strategy of scheduling e
b) Anintermittent pattern of high activity and low activity
¢) A continuous pattern of messaging o :
d) Intermitteﬁt, intense activity within a continuous pattern
6. What is ABC? ‘ ;
a) American business circle
~ b) American business corporation
¢) Audit Bureau of circulation *
d) - Asian Broadcasters corporation:

7. The print medium continues to rely heavily on CPM to determine scheduling. What is CPM?
- a) A percentage of impressions that results in a click
b) A percentage of households tuned to TV
c) The relative average cost to reach one thousand people
d) A payment received for each action
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8. Reach is defined as
a) Insufficient exposure to the target audience
b) The Number of times a reader is exposed to a message
¢) The total number of duplicated exposures
d) The total number of unduplicated exposures
9. The implementation of media plan requires
a) Media slot
b) Media mix
¢) Media buying
d) Media selection =
10. Media planners begm their work by domg medla
a) research g

b) message
¢) buying
d) selling -

Q.1B) Match the column (any 7 out of 10) - 07 marks
1 |.€PM A Measurlng the effectiveness Method
2 | Continuity B | Emerging media option
3/ IRS & ‘ - C | Opportunity to see
4 | Clutter in outdoor D | Measuring brand and category index
5 | frequency E | Gross impression
6 |GI : F | Number of times an ad is repeated in

| : A -~ | a given period of time
7 Dlary method v G | When too many hoardings are
> ) placed next to each other
8 |BDIand CDI - H | Cost per thousand
9 | Mobile advertlsement in India I | Indian readership survey
10 | OTS & J | When an ad runs in the media for a
: long time without any gap

Q.2a) “Several factors affect your media planning decisions.” — Explain a few with examples.

08 marks

Q.21'1)' Who is a media pilahner? Wﬁat are the role and functions of a media planner?
- et 07 marks

) , OR
Q.2¢) “Medla plannmg is not free from challenges ” - Elaborate 08 marks
Q. 2d) What is medla research‘7 Explam any two sources of media research. 07 marks
Q.3a) Explain the advantaées and lixnifations of Newspapers as a media. 08 marks
Q.3b) What is media sj;‘rategy? Why is media strategy needed? 07 marks
27156 ' , Page 2 of 3
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_OR ,
Q.3¢) What is Out of Home (OOH) mediafl,Explain with examplé any two type of out of
Home (OOH) media. _ % 08 marks
Q.3d) Explain: e - , 07 marks

a) Gaming media
b) In flight media

Q.4a) What are the methods of setting a media budget? : 08 marks

Q.4b) What is media sché&uling? EXplain main scheduling strategi’és with diagram. 07 marks

_ : OR -
Q.4c) What is media buying? What are its main objectives? % 08 marks
Q.4d) Make a list of the factors that affects your media scheduling strategies. ' 07 niarks

Q.5a) EXplain the it'nportance' of reach and frequency in the.media measlifement process.
- ‘ : : : - 08 marks

Q.5b) What;a‘ré television metrics?f How are they useful in evaluating the effectiveness of an

ad campaign on TV? : 07 marks
Q.5¢) Write short notes on the following: any three (5 marks each) : 15 marks
- A. Radio as a media *

B. Qualities of a media planner

C. Mobile as a new media

D. Reach & frequency

“E. Buying Brief
> ‘ =Rtk ok ok
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; *T '\\’%M g Paper / Subject Code: 86001 / Operation Research ‘

/

E

(2% Hours) [Total Marks :75]

Note : 1. All questions are compulsory. ( Subject to internal Choice )
2. Figures to the right indicate full marks.
3. Use non--programmable calculator is allowed
4. Normal distribution table is printed on the last page for reference.
5. Support your answers with diagrams / illustrations, wherever necessary.
6. Graph papers will be supplied on request.

Q.IA) State whether following statements True or False: (Attempt any 8) (8)

1. Operation Research is also termed as Management Science.

2. The objective function is a linear relationship reflecting the objective of an
operation. :
3. The feasible region is a convex set. ' % ‘
4. The value of Aj = CJ —Zj row in the simplex table tells us whether the current
solution is optimal, and, if it is not, what variable will be in the optimal solution.
5. Ifthe assignment elements are cost elements, then the objective of the optimal
~-assignment is to maximize the cost.
6. MODI method is the best method to get Initial Feasible Transportation solution.
7. The dummy activity has an expected time of zero by definition.
8. The PERT pessimistic time estimate is an estimate of the minimum time an activity
will require.
9. Insolving ajob sequencing problem, it is assumed that all jobs require the same
sequence of operations. :
10. If saddle point is available in a game, it is called as pure strategy game.

Q.1 B) Match the right and closely related answer from Column Y with the text /

term given in Column X, (Attempt Any 7 questions ) @)
Column X Column Y
1. Leaner relationship of a) Completely utilized resources
variables
2. Infeasible region b) Minimum cost in the table
3. Scarce resource ¢) No feasible Solution possible
4. LCM d) LPP
5. NWCR e) In the game, gains of the winner are
equal to total losses of all other
players
6. Critical activity f) Optimistic time
7. Zero sum game g) Fair game
8. Shortest activity time in h) Zero float value
PERT
9. Value of game =0 1) The time during which a machine s
' : waiting or not working
.10. Ideal time J) Top left side corner of the table
11523 s Page 1 of 5
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Q.2 A) M/S. Rajaram Pvt.ltd. and engineering firm has to decide profitable mix for. its
products i.e. Condenser, Transmitter and Connector with a profit (per 100 units) of 10, X6
and ¥4 respectively. To produce a shipment of condenser containing 100units required 1 hour
of engineering 10 hours of direct labour and 2 hours of administration service. To produce
one shipment of transmitter 1000 units require 1 hour of engineering 5 hours of direct labour
and 6 hours of administration, similarly these figures for connectors are 1,4 and'2. There are
100 hours of engineering services available 600 hours of direct labour and 300 hours of

administration. What is the most profitable mix find with the help of LPP formulation and
simplex method. » : N

From the above information Formulate as LPP i $ > ™) |
B) Find the optimum solution with the help of simplex method @®)
OR

Q.2 C) Five salesmen are to be assigned to five territories. Based on past performance, the
followingtable shows the annual sales (is Rs. lakh) that can be generated by each salesman in

each territory. Find optimum assignment to maximize sales. _ 8)
Salesman Territory '
T1 ) IR T4 T5
S1 26 14 10 12 9 S
S2 31 27 30 14 16,0
8310V 15 18 16.%° 25 30
S4 ' 17 14 21 30 25
S5 20 19 25 16 ¢’ 10
Q.2 D) Solve by using graphical method : : S )

~Max Z=4x,+3x»
Subject to constraints,
4x; +3%x,<24 ;

X1<4.5
X,<6
X120X;=0
Q.3 A) From the data given below
1. Draw a diagram )
2. Find Critical path )
3. Crash systematically the activities and determine optimal project duration 4)
Activity « 1-2 1-3 | 24 | 2-5 | 3-4 | 45
Normal time. (days) 8 4 2 10..2] 5 3
Normal cost (Rs.) 100 150 { 50 | 100 | 100 [ 80
Crash Time (days) 6 2 1 5 1 1
Crashed Cost (Rs) 200 350 {90 | 400 | 200 | 100

Indirect Cost -is Rs. 70 per day
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Q.3 B) You are given a solution for a transportation cost problem. Figures in each cell
represent per unit transportation cost. Figures in circle within each cell represent number of
units allocated for transportation. P1, P2 and P3 are the 3 Plants and W1, W2 and W3 are the
3 Warehouses. You are required to check the above solution for optimality, if it is not
optimal, use MODI method to obtain optimal solution and Find optimal transportation cost.

¥

PlantWH | W1 w2 W3 ¢ Supply

P1 18 20 1612000

; 22 30 | 2000
I (D, _

P3 6 @ 0 | 2000
Demand 1500 3000 *1 1500 Total=6000

Q.3 C) A Project which is planned using PERT technique has following details of Average
Expected Times calculated using the formula, te = (a + 4m + b ) / 6 and the details of
standard deviation.

~ Activity Average Expected Time in weeks ( te) Standard Dev1atlon
1-2 : 3 4/6
1-3 4 4/6--
2-5 5 4/6
2-4 6 2/6
5-6 7 4/6
4—-6 8 4/6
3-6 9 4/6
6—17 3 2/6
“i) Construct the network diagram of PERT network and find expected completion
time of the project. 3)
i1) Calculate the Variance of each activity. 4
iii). Determine the probability of completing the projectin 21 Weeks. (4)
iv) If the project manager wants to be 99% certain that the project should be
completed on schedule what will be the project duration? (4)
Q.4 A) You are given the pay-off (profit in %) matrix in respect of a two person zero-sum
game as follows: )
Player: B
: I I
1Ir2 A8
Player: A II[ 1 -5 -4]
;S H\2% 6 -2

.. Find the Maximim strategy.
~ii.  Find the Minimax strategy.
iii.  What is the Value of the game.
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Q.4 B) Six jobs I, II, III, IV, V and VI are to be processed on two machine A and B in order

AB
Processing Time (Min)
Jobs Machine A Machine B
I 5 8
11 2 6
111 10 3
v 9 4
\Y% 6 3
VI 8 9 e s
(i) Find the sequence that minimizes the total elapsed time required to complete the
jobs. : SA2)
(ii) Calculate the total elapsed time (3)
(iii) Idle time on for each Machine (3}
OR %
Q.4 C) Find the optimal sequence: (8)
JOB . 1 11 [11 I\ Y
Machine-A 3 8 7 S 2
Machine-B 3 4 2 1 S
Machine-C 5 8 10 o 6
a) Determine the optimum sequence for performing jobs 3-
b) Total minimum elapsed time
¢) Idle time for each machine.
Q4 (D) you are glven the following pay-off matrix of a zero-sum game determine the
ptlmal strategies for the players and the value of the game. @)
A’ Strategy B’ Strategy
A Bl B2 B3 B4
Al 5 -4 ¥ =8 9
-~ A2 6 2 0,8 -3
A3 9 15 10 11
Ad 2 8 -6 5
Q.5 A) Define Operatlons Research. Explain limitation of Operatlon Research. ®)
B) Explain various cost involved in project crashing. @)
‘ OR
Q.S C) Write a Short. note (Attempt three) (15)

i)  Project crashing
ii) Basis and non-basis variable in simplex table
iif)  Interfering float
iv) Objectives of critical path
©v) NWCM
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NORMAL DISTRIBUTION TABLE
Area Under the Standard Normal Distribution :

0.08

Z |0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.09
0.0 | 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239-| 0.0279.{-0.0319 | 0.0359
0.1]0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675| 0.0714 | 0.0753
0.2 | 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3(0.1179 |0.1217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4]0.1554 | 0.1591 | 0.1628 | 0.1664 | 0.1700 | 0.1736{ 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5]0.1915 |0.1950 [ 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123'} 0.2157.{:0.2190 | 0.224
0.6 | 0.2257 | 0.2291 { 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2518 | 0.2549
0.7 [ 0.2580 | 0.2612 | 0.2642 | 0.2673 | 0.2705 | 0.2734 | 0.2764 | 0.2797 | 0.2823'| 0.2852
0.8 10.2881 |0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.90.3159 |0.3186 | 0.3212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 | 0.3413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
1.1]0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790{ 0.3810.{0.3830 |.
1.2 10.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997| 0.4015
1.310.4032 | 0.4049 | 0.4066 | 0.4082 | 0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
1.4 | 0.4192 | 0.4207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4292 | 0.4306 | 0.4319
1.510.4332 |0.4345 | 0.4357 | 0.4370 | 0.4382 | 0.4394 | 0.4406 | 0.4418 | 0.4429 | 0.4441
1.6 0.4452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515| 0.4525 | 0.4535 | 0.4545
1.7 1 0.4554 | 0.4464 | 0.5473 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625| 0.4633
1.8 10.4641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
19104713 | 0.4719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0[0.4772 |0.4778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817
2.1.10.4821 | 0.4826 | 0.4830 | 0.4938 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
22104861 | 0.4846 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 | 0.4884 | 0.4887 | 0.4890

112.310.7893 | 0.4896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
24104918 | 0.4820 | 0.4922 | 0.4925 | 0.4927 | 0.4931 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.510.4938 |0.4940 | 0.4941 | 0.4943 | 0.4945 | 0.4946| 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6.1 0.4953 | 0.4955 | 0.4956 | 0.4958 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.710.4965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.810.4974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 0.4978 | 0.4979 | 0.4979 | 0.4980 | 0.4981
29104981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4988 | 0.4986
3.0 10.49865 | 0.4987 | 0.4987 | 0.4988 | 0.4988 | 0.4989 | 0.4989 | 0.4989 | 0.4990 | 0.4996
4.0.1 0.49968
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